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Identify the vertex, focus, axis of symmetry, and directrix of each.  Then sketch the graph.
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2)  y = x2
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3)  x = 
1
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4)  y = −
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5)  x = −3y2
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6)  x = y2
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7)  x = −y2
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8)  x = −4y2

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

www.mrtownsend.com



©H J2X0Y1O6n XKcuptcaa LSRoif_tDwhaIryeG WLILfCt.B h BAklVlP hrEiXghhGtBsy prCeusfewrzvKeLdf.h a zMEaydvev `wxiltXh\ RI]nQfJiAnSiLtHeW IAklngkeWbRrkar ^2d.

Worksheet by Kuta Software LLC-3-

Answers to 
1)  
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8 Vertex: (0, 0)
Focus: (0, 

1
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Axis of Sym.: x = 0

Directrix: y = −
1
8

2)  
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8 Vertex: (0, 0)
Focus: (0, 

1
4)

Axis of Sym.: x = 0

Directrix: y = −
1
4

3)  
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8 Vertex: (0, 0)
Focus: (1, 0)
Axis of Sym.: y = 0
Directrix: x = −1
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8 Vertex: (0, 0)
Focus: (0, −1)
Axis of Sym.: x = 0
Directrix: y = 1
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8 Vertex: (0, 0)
Focus: (− 1

12
, 0)

Axis of Sym.: y = 0

Directrix: x = 
1
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6)  
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8 Vertex: (0, 0)
Focus: (1

4
, 0)

Axis of Sym.: y = 0

Directrix: x = −
1
4
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8 Vertex: (0, 0)
Focus: (− 1

4
, 0)

Axis of Sym.: y = 0

Directrix: x = 
1
4
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8 Vertex: (0, 0)
Focus: (− 1

16
, 0)

Axis of Sym.: y = 0

Directrix: x = 
1
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